Monday 08,02.21

Practise your written methods in your home learning book/paper.
Try to reason at least one!

1.

2.

3. 6852x 31 = [ Eaioa shalenge

Corwert 60 miles .into Jun.=-

4. 8862+ 21 = - 68% of £320 = I




ANSWERS Monday 08.02.21

Practise your written methods in your home learning book/paper.
Try to reason at least one!

1. 14 865 + 52 679 = 67 544
2. 15990 - 9 999 = 5 991 (FEMA!)

3. 6852x31= 212412 Etea challenge

Corwert 60 miles into km= 96

4. 8862 +21 = 422

68% of £320 = £217.60



Juesday 09,02.21

Practise your written methods in your home learning book/paper.
Try to reason at least one!




ANSWERS Juesday 09.02.21

Practise your written methods in your home learning book/paper.
Try to reason at least one!

1. 18 703 - 5683 = 13 020

2.6 391 x 45 =287 565

3. 348 + 6= 58 Extra challenge
22 +3i = 6L
8 q 36

4.23 078 +8094 =31172

5 x(52-13)+6=10



Wednesday 10.02.21

Practise your written methods in your home learning book/paper.
Try to reason at least one!

1. 3248 x 16 <[ D s

G s s, 5, & :-

2. 972+ 12 = | I 29 - 7504 - [

2 345 - |0 000 =-




answers Wednesday 10.02.21

Practise your written methods in your home learning book/paper.
Try to reason at least one!

1. 3248 x 16 = 51 968 R

Corwert 2/25 into a % = 8%

2. 972 +12 = 81 3kg - 7509 = 2.25kg

2 345 - 10 000 = -7655

3. 94104 + 2 222 = 96 326 (FEMA)

4.19 026 - 8425 =10 601



Thursday 11.02.21

Practise your written methods in your home learning book/paper.
Try to reason at least one!

1. 960 + 13 = [N

2. 784 + 106 + 2 546 [
3. 6354-2597 = |
4. 1724 x 9 =[N

Extra challenge
48 - 12 x (2 + 1) = [}

5 hs - 256 mins =




ANSWERS Thursday 11.02.21

Practise your written methods in your home learning book/paper.
Try to reason at least one!

1. 960 + 13 = 73.85 (r11)
2. 784 + 106 + 2 546 = 3436

L8 - 12 x (2 + 1) =-12

4. 1724 x9=15516 5 hrs - 256 mins = 44 mins



Solve the problems in your home learning book/paper.
Try to reason at least one!

1. 3-Spoiﬂlem
1171 |3 5413
+ I:I X 86
107 10 32478

4328240
2 4360718

620[]
- 50199 4. 13[].[]
8[]9 7192




ANSWERS

Solve the problems in your home learning book/paper.

Try to reason at least one! 5413
1 3. Spot the mistake 86
11783 °413 32478
+ 1935 X 86 8240
4360718
1§71§ 32478 These .are 10 times too hig.
4328240 snouwd be 433040

2 4360718 307500 32000 b

6208 S

-5399 4. 32478
809 7042 465518



